C12-7.1 - Exponents Laws HW

Simplify ;
4% x 43 = 32 x 3% = 2= 7
= o2 ==
32 2y4 2
<1>2 = <E>2 = 50 = 60 =
3 5
Change Base
25 = 9= 8 = 27 =
Change to base 2
16 = 42 = 162 = 272 —
Change to base 4
16 = 16% = 64 256=

Write as a single of power Write as a multiplication of powers

32 % 42 = 22x5% = (2x3)* = (6)* =
Write with a positive exponents
573 = 3
x—S - Zx_z = <2>—2
Write with a negative exponents 3
1 1
— = 2 3 _ X _
52 S 2 3
Change Base with negative exponent
~ = 1_ 1_ 1 _
25 9 16 16

Exp Page 1



C12 - 7.1 - Simplifying/Separating Exponents HW

Simplify to a single exponent

2¥x2 = 3*%x3 = (62)x= (9x)2 —
2 7 5 _ 4
7= 7 5% Ez
52X x 5 = 32 5 3% =
3x><9= ZxX16= 4_x: 4_x

8 256
49 81 _
7%= 3
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C12-7.1 - Simplifying/Separating Exponents HW

Separate into a multiplication/division/or use brackets with the same base. (Isolate #*)

3x+1l — 5x-1 — 21-x — 62x+1 —
72% — 22x+1 —
5x—1 —
62x —
1-x —
3 = 22x+3 — 5x-3 _ Jxt1 _
32-2x _ 63% = 73x+2 _ 12% =

Separate into a multiplication/division/or use brackets with the different bases. (Isolate #*)

6" = 10* = 14% = 15% =

g% =
8 = 12* = 12% =
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C12 - 7.1 - Simplifying/Separating Exponents HW

Simplify
23><25: 48><25_ 83><210_
22 32 256 X 42
28 x 273 87t x32% 27t x167*
16 642 T 1282
4* % 8 33x+2
22x+1 X 22 = - _
- = 2 3x+1
2x
54x—1
— 4x X 83x+1
125% T162x+3
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